NUMBER SYSTEM | PART-8

SSC,CDS

Find out the unit digit in the following expres-
sion —

Trfte # i siw T E —

31 % 37 x 36 x 46 = 89

(A) 2 (B) 8

(€6 (D) 1

What is the unit digit of : 167 x 2183 x 497 x
839 x 235 x 111 x 1039 x 251 x 5637

167 x 2183 % 497 x 839 x 235 x 111 = 1039 x
251 x 563 FTHR F FNE?

(A) O (B) 5

(€)1 (D)7

If the unit digit of 433 x 456 x 43N is N + 2,
then what is the value of N —

It 433 x 456 x 43N T TR SFFE N + 2 8, 91 N =t

T E — [SSC-CGL Mains 2017]
(A) 1 (B) 8
(€) 3 (D)6

If the unit digit in the product of 439 x 34F x
354 x 436 is P. How many values can P take
AT 439 x 34" x 354 x 436 MIFE SF PT T PH
TR AR He ® —
(A) 1

(€)8

(B) 5

(D)3

What is the unit's place of 2977
29" T THIE ST FNE ?
(A) 1

(€)7

(B) 3
(D)9

Find out the unit digit in (67354)'+""—
(67354)' %77 7 = = ofF —

(A) 8 (B) 4

(€6 (D)5

(23)%" * (24)%x (26)%x(27)**%(25)*"=?
(Unit Digit)
(A) 2
(©)o

(B) 4
(D)7

If the unit digit (12345 &)7# is 6. Then find the
vlaue of i.

(12345 k)7 oS 3% 6 F, 9t k &1 71 —

10.

11.

12,

13.

14,

15.

(B) 6
(D) All of these

If the unit digit of (3333)" is 7 then (7777)" unit
digit ?

Afs (3333)" &l S A%k 7 8, 0 (7777)" F H H
ek Fasl 7
(A) 1

)7

(B) 3
(D)9

Find out the unit digit (7" - 3°%) —
(795~ 3% 3 4o 315 —

(A) 7 (B) 3
(C) 4 (D)o
% + 18%= ? (Unit Digit)
(A) 2 (B) 4
(€0 D)6

Find out the unit digit in the product of all odd
prime numbers —

Tt U &7 st 2 O T TR o7 Jh F—
(&) 5 (B) 2

(€)9 (D) 4

Find out the unit digit in product of all pirme
numbers in between 1 and 99999 —

1 § 99999 ¥ o= F At 19FA TEAeT F TR o
RIS Rl 3ok AT Y —
(A)9
(<)o

(B) 7
(D) Not

If xis a real number x!! — x* = 2626 then how
many values possible of x.

= x Wk AT e © S FHE X — X = 2626
a1 X% TS Frae A 9 R

(A) B (B) 0

(C) 2 (D)9

What is the unit digit of 1° + 2° + 3° +
......... 30°—

17+ 274+ 37+ ... 30° THE oFF T T —

(A) S B)1

(C) 2 (D) 4
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Mother's * Number System (Part-8)

16.

17.

18.

19.

20.

21.

22,

23.

What is the unit digit of the sum of first 111
whole numbers —

woq 111 Yot Semet F 3 T o F T —

[SSC-CGL Mains 2017] | 2%

(A) 4
(€) 5

(B) 6
(D)0

4T

If x = (164)'% + (333)*
the unit digit of x —

— (727)?°, then what is

g xc = (164)1°9 + (333397 — (727)72¢ &, 4t xc 7 e | 2O

SR FME — [SSC-CGL Mains 2018]
(A) S B)7
(C) 8 (D)9

Let x = (633)** - (277)™ + (266)”* What is the
unit digit of x?
T x = (633)%* - (277)°° + (266)°* &, W x T T

HHFE ? [SSC-CGL Mains 2018]
(A)7 (B) 6
(€4 (D)8
Find out unit digit/S#E % saisii ?
4+ 92 + 43 + 94 +45 + 9[‘1 = N 4‘_.1‘_.1 +9 10363
(A)Q (B) 3
(C)5 (D) Not
27.
4 5 6 7 8 10
3 4 5 6 7 9 =
27 x 3 x 4 x 5 x 6 * B
unit digit/SFE 3F —
(A) 4 (B) O
(C) 2 (D)9
Find out the unit digitin (12 — 28.
[L2 & 58 = ofF I = —
(A)Q (B) 2
(C) 4 (Dy5 29.
N = w2 Lislar |28 Lo L52
103 +218 + 267
then what is the unit digit of N.
B Pt T A Lz |23 Li+lze 15T
FN=103 +218 + 267

T N = THE STF AT —

(A) 2 (B) 3

(C) 4 (D)5

Find out the unit digit —

o H T T T —

8820 4 ¥ 4 EeE23TH | oo

(A) S
(C) 3

(B)9
(D) Not

Find out digit/7% =1 1% 910 %1 —

R LR L T
(A)7 (B) 8
(€) 6 (D)9

If x and y are integers and unit digit of x* is 9
and unit of y* is 9 then which of the following
value is not possible for x - y.

Mx My TF I FIFE R AF T aqMy* F
TEE WA Q T, T T H T x — y el B wa |

(A) 4 (B)6

(C) 40 (D)8

When 3% is divided by 50. It gives a number of
the format (abed ......... Xv)(xy being the last two
digits after decimal. Find y

e 3% 1 50 ¥ faunfsr fomar wimar & 1 Rt (abed
........ Xy ) B H 9 g g (xy HAoH @ e At

e y 1 A A6 H |
(A) S (B) 3
(€)2 (D)6
Iffafe N= |1+ 2+ [3+[4+ |L00 then find
r o . NN
the unit digit of/79 TH1% 1% TSt
(A)3 (B) &
(€7 (D)8
. 12 227
What is the unit digit of /3% T F@sh 7
(A)1 (B)3
€7 (D)9

x and y are the digits at the unit's place of the
number (408 and (789) where x# y. However
digit at the unit place of the number (408x)%
and (789y)* are the same. What will be pos-
sible value of x + i1

x 3T y, 408x 3T 780y * +ifm 7w ¥ Wl x 2 y 76
(408x)°¢ =1 S1fem T (780y)* AT oi F oo ¥,
T x + y 1 I T FAEA 2
(A)9 (B) 10
(€11 (D) 12
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Mother's = Number System (Part-8)

32 31 31
24 64 23 o
30. 15 + 19 + 26 +|52+ 16 find out digit /e

ek F U —
(A) O B) 5
<7 D)8

31. If nis an positive integer then the unit digit of
3211+l + 2211+l is —

Al n Tk SIS O &, a1 320 + 020 3 e

Ik FNE — [CDS 2010]
(A) O (B) 3
(€)5 (D)7
32. Find unit digit of /3% & s —
29136 [CPO 2017]
(A) 1 (B) 3
(€7 (D)9
33. (2467)'%% x (341)™ = find unit digit/3FE 3%
EGIE I [SSC-CGL Mains 2015]
(A)7 (B) 1
(€)3 (D)9

34, Find unit digit/3%5 3% qa= —
(217)" + (819)517+(4 14)>2"+(342)%14
[SSC-CGL Mains 2017]
(A) 2 (B) 4
(€)6 (D)8

35. Find two right most non zero digit of /2 ¥ 313
E?l 31‘%.— Einl EI'T{:T [880] 150

(A) 16 (B) 26
(C) 76 (D) 24

36. Find the last two digit of/ 3ifim <t a7 710 #6921
(A) 78 (B) 19
(C) 39 (D) 09

37. Find the last two digit of/3ifte 3 7% 9 =4 2222
(A) 04 (B) 07
(C) 18 (D) 98

38. Find the last two digit of/ 3ifte St a7% 31 #Y 75570
(A) 55 (B) 45
(C) 67 (D) 78
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Solution

1. B 1 x 7 x 6 x 6 x 9 13.(C) 2 x 3 x &5 = 7 ...
D
=38 14. (B) Unit digit of x'' = unit digit of x*
o ~ounit digit of =x'"' —x*=0
2.(B) 5xodd>5 which is not equal to 6.

3. D) 3x6xN=N+2 5 5 5 5 5 5 5 5 5 5
ExN=N+2 15.(A) 1°+2°4+3°+4°+5°+6°+7°+8°+9°+ 10
~N=6 N A

1+2 +3 +4 +5+6 +7 +8 +9 +0

4. (A) 4Fx6=P =0
- P=6 A 119+ 125 4 20°=0

5. (A) 21°+227+ ... 30°=0
1937 _ 16.(C) N=0+1+2+......... 110

6. (B) T=1rema1nder 110 %111
(67354)! = 4 (Unit digit) -2

- al 1 2=

7. ©) 3" x 4 x 6° x 7" x 5 17-[C]X:4Q:?O 78 4+3-9=7-9=-2
Lol J J J o
3 x 6 x B x 1 x5 =0 18.(D) x=3"-72+6

8. (D) (12345K)7 X=;—g+62

X: — —_—

=K*—=6
in these option all values are correct : x=-2+10=8
19.(A) 1" 54+9%2 55

9, (B) (3333)"=7 . .,
(]( ) 211r_l_>4o+9A_>5

L x=3
Oiled * e _
(7777)" = (7777)° = 3 477 (unit digit) =
9oV (unit digit) = 1
10.(C) 799-3F=7"-3?=3-9=-6 So group unit digit = 50 x 5 =0
-6+10=4
20.B) 6 =5
i1 [C] 355 % 455 2144 '[ ) 5
b 11 + T 8
R 7°0=6 6x5=0
344 x 457 ¢ 272 6
=1x4+6 21.(A) L12=12x 11 x 10 x .......
12.(A) Odd prime number=3, 5,7, 11, 13, 17 Lolela _
=3x5x7x11x13x 17 ........ 22.(A) 103 =39=7
=5 lole-ls+ 5 _ogs
218 =8=2
lirle-l3+ 157 _ou s
267 =7=3

S 7+ 2+ 3=2{( Unit Digit)

Tt Competitive Exams 5 Pdf Notes 3T Previous Years @5 Questions 13a1ats w53 faegsa w1 n
THTY T Yot "MATHS With PAWAN RAQ" Bt Join T5%aT &1 4|




Mother's = Number System (Part-8)

23.(B) 888"+ 222% + 666* + 9997

=6+6+6+1
=9
24.(A) 1" +2°+6°+ 242 + 0+ 0+ .........
=1+4+46+6
=7
25. (D) (coorerrenn 3)*=09
(crerrerne 7)*=9
So,
x=3,7 v =3,7
Xx-y=3-3=0
Xx-y=7-3=4
X-y=3-7=6
T X-y=8

26. (C) Unit digit 3 =3"= 1
When a number whose unit digit is 1 and di-
vided by 50 always gives 2 as a unit digit af-

ter decimal.

27.(A) Unit digit of N = 3

N 3
1 12227 11+ 4 2227
28.(C) 7 R A e
29, (B) Let A = (408x)°, B = (789)*
X 0|1|2|3|4|35|6|7|8]|9
A(Unitdigit) [0 |3 [8[7 4[5 |6 |3 [2]9
Y 0(1(2|3|4|5|6|7|8|9
B{Unitdigit) [0 [1]|2 3[4 [5]6 |78 ]9

.. Possible value of x +y=8+ 2 =10

32 31 31
24 64 23
15 + 19 + 26 +

bl

g+ 6+40+6

30. (D)
L52 + 16

5 +

=5+1+6+6=8

31.(C) (i If n = even
32*2‘*1 + 22*2 +1 - 35 + 25 =5
(il If n= odd
- 36+l + 2'?5"'1
=3"+2"57+8=5

32.(A) 07 = |
33.(A) 71x1=7

34.D) 7'+ 97 + 4%+ 24
=7+9+6+6
=8

35. [A) 8805 = [11 % 8]|5;1r.3 x 101336
= 1158 x 1336 x Q5w
= 11'5% x 21668 x 1QITW =/]1 x 56 = 16

36. (D) 692 = (69%)'2' x 69
- [4'.76I)I2I * 69
=61 x 69
= 09

37.(A) > 22" x 22 =76 x 4
=04

38. [B) 75676 = (52 w 3)575
= {1332 » 3676
=5x (34]“30
=5x (8 1)|z3<3
=5Hx 29
=45
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